CROWN I N

Date: 05/06/2023 rev.00
Model: CT29006HX




CT29006HX

Pos.No. Part No. Description Qty Remark
1 5002900600101 [|Screw / ST4.8x16 3
2 5002900600201 |Front handle 1
3 5002900600301 |Screw / ST4.2x16 11
4 5002900600401 |Oil can cover 1
5 5002900600501 [Housing 1
6 5002900600601 |Sealing ring 1
7 5002900600701 |Oil Tank 1
8 5002900600801 |Check Valve 1
9 5002900600901 |Brake Guard 1
10 [ 5002900601001 |Pan Head Screw\M5x25 1
11 [ 5002900601101 |Pin / 7x50 1
12 [ 5002900601201 |Brake pads 1
13 ] 5002900601301 |Brake seat 1
14 | 5002900601401 |Hex Lock Nut / M5 1
15 [ 5002900601501 |Brake switch 1
16 [ 5002900601601 |Clip 1
17 [ 5002900601701 |Switch 1
18 [ 5002900601801 |Screw / M5x16 3
19 [ 5002900601901 |Switch Button 1
20 | 5002900602001 [Grease Inlet Pipe 1
21 | 5002900602101 |Cover 1
22 | 5002900602201 [Socket Head Screw / M6X25 1
23 | 5002900602301 [Bush / g12x8 1
24 | 5002900602401 [Brake Spring 1
25 |5002900602501 |Spring Seat 1
26 | 5002900602601 [Motor 1
27 15002900602701 [Power drivhg device 1
28 | 5002900602801 [Self-lock cap 1
29 | 5002900602901 |Reset Spring 1
30 | 5002900603001 [Switch Button Spring 1
31 5002900603101 |Dustproof sponge 1
32 | 5002900603201 |Slot holder 1
34 | 5002900603401 |Fixed block 1
35 | 5002900603501 [Worm 1
36 | 5002900603601 [Oil pump 1
37 | 5002900603701 |Shielded 1
38 | 5002900603801 [Screw / ST4.2x12 5
39 | 5002900603901 |[Rubber sealing block 1
40 | 5002900604001 [Sprocket cover 1
41 5002900604101 |Pressure jacket 1
42 | 5002900604201 [Nut / M8 1
43 | 5002900604301 [Screw / M4x8 4
44 | 5002900604401 |Oiloutletpipe 1
45 | 5002900604501 |Carburetor Bolt / M8 1
46 | 5002900604601 |Hex.Bolt / M5x12 1
47 | 5002900604701 |Regulating unit 1
48 | 5002900604801 |Guide plate 1 Po0s.48,49 supplied as a set
49 5002900604901 [Saw Chain 1 P0s.48,49 supplied as a set
50 | 5002900605001 [Woolen Washer 1
51 | 5002900605101 [Chain Wheel 1
52 | 5002900605201 [Retaining ring / 87 1
53 | 5002900605301 [Guide Cover 1
54 | 5002900605401 [Socket Wrench 1




	CT29006HX drawing
	CT29006HX list

